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STANDARD EIGHT 2013
SCIENCE                                          Time: lhr 40mins
READ THESE INSTRUCTIONS CAREFULLY
1 You have been given this question booklet and a separate answer sheet. The question booklet contains 50 questions.
2. Do any necessary rough work in this booklet.
3. When you have chosen your answer, mark it on the ANSWER SHEET, not in the question booklet.
HOW TO USE THE ANSWER SHEET
4. Use an ordinary pencil.
5. Make sure that you have written on the answer sheet:
YOUR INDEX NUMBER YOUR NAME
NAME OF YOUR SCHOOL
6. By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e. School Code Number and the three-figure Candidate’s Number) in the grid near the top of the answer sheet.
7. Do not make any marks outside the boxes.
8. Keep your answer sheet as clean as possible and do not fold it.
9. For each of the Questions 1 - 50, four answers are given. The answers are lettered A, B, C and D. In each case only ONE of the four answers is correct. Choose the correct answer.
10. On the answer sheet the correct answer is to be shown by drawing a dark line inside the box in which the letter you have chosen is written.
Example
In the Question Booklet:
14. Which of the following does NOT happen during inhalation?
A. The diaphragm flattens
B. The ribs move outwards and upwards
C. The diaphragm relaxes
D. Pressure in the lungs decreases
The correct answer is C (The diaphragm relaxes)
On the answer sheet:
4. a|| B||C||D|   14.  a|| B||C||D|   24.  a|| B||C||D|   34. a|| B||C||D|
In the second set, the box with the letter C printed in it is marked.
11. Your dark line MUST be within the box.
12. For each question ONLY ONE box is to be marked in each set of four boxes.
This question paper consists of 8 printed pages

TURNOVER

1. Which of the following list has names of parts only concerned with the breathing system?
A Nose, gullet, bronchus, lungs
B. Nose, diaphragm, liver, lungs
C. Nose, trachea, bronchus, lungs
D. Nose, trachea, ileum, gullet
2. Which one of the following is a control measure for HIV/AIDs?
A Creating public awareness
B. Sharing food
C. Treatment of the patient
D. Showing love to the patient
3. The MAIN function of the capillaries is to
A carry blood away from the heart.
B. carry blood to the heart.
C. prevent backward flow of the blood.
D. allow movement of substances to and from the body cells.
4. Std. 7 pupils in Maleva primary school collected the following pests and parasites
(i) Lice
(ii) Fleas
(iii) Weevils
(iv) Liverflukes
(v) Cutworms
(vi) Stalkborers
Which of the above pests and parasites are animal parasites only?
A Cutworms, lice, fleas
B. Stalkborers, lice, liverflukes
C. Weevils, liverflukes, lice
D. Fleas, liverflukes, lice
5. The table below shows how different plants store their food. Which plant is NOT correctly matched with its food storage organ?
	Plant
	Storage organ

	A
	Cassava
	roots

	B.
	Onion
	stem J

	C.
	Irish potatoes
	stem1

	D.
	Carrot
	roots


6. The diagram below shows a plant that is adapted to a certain climatic condition.
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Which of the following statements is NOT true about the plant?
A It is adapted to survive in hot and dry areas.
B. It is adapted to live in warm and wet conditions.
C. The water absorbed from the soil is stored in the stem.
D. The stem is green and fleshy and helps the plant to make food.
7. Which one of the following is COMMONLY used to make cooking pans?
A Iron
B. Aluminium
C. Copper
D. Glass
8. Deficiency diseases can be prevented by
A cleaning our bodies everyday.
B. observing personal hygiene
C. eating a balanced diet.
D. taking medicines.

9. Which one of the following places should be avoided when a raingauge is being placed to collect water?
A  An open field.
B. Under a tree. 
C. Top of a pole planted in an open, field.
D. On a table placed  in a large school field 

10. During infant immunization schedule, which two diseases can be vaccinated against at birth?
A Polio and measles
B. Polio and tuberculosis
C. Tuberculosis and tetanus
D. Polio and whooping cough
11. Drug misuse involves all the following practices EXCEPT
A taking an overdose of prescribed drugs.
B. taking prescribed drugs for a long time.
C. sharing drugs with family members.
D. taking an underdose of prescribed drugs.
12. Which one of the following shows levers that work on the same principle? A Wheelbarrow and spade
B. Crowbar and claw hammer
C. Spade and lid opener
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Spade and bottle opener
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Which one of the following observations Would NOT be made in the experiment?
A The cold water would become warm.
B. Some droplets would be formed under the lid.
C. There would be pure water in the container.
D. The amount of dirty water will remain the same.
14. Kipchoge was advised to use some drugs before he travelled from Kenya to Seychelles. Which one of the following types of drugs was he advised to use?
A Stimulants.
B. Vaccines
C. Curative medicines
Painkillers.

15. The table below shows parts of the human digestive system and their functions.
	Part
	Function

	X
	Absorption of digested food

	Y
	Absorption of water and mineral salts.

	Z
	Production of bile juice


Which parts are represented by letters X, Y and Z respectively?
A Large intestine, small intestine, gall bladder
B. Small intestine, gall bladder, large intestine
C. Small intestine, large intestine, liver
D. Large intestine, liver, small intestine
16. The purpose of charcoal in a charcoal cooler is to
A absorb heat.
B. absorb water.
C. absorb colour.
D. protect the inner parts from the wind.
17. Which one of the following is NOT a method of keeping animals healthy?
A Good hygiene
B. Deworming animals.
C. Proper feeding.
D. Shearing
18. Carnivores have carnassial teeth MAINLY for:
A catching and holding prey.
B. tearing off flesh from its prey.
C. slicing flesh and cracking bones.
D. preventing flesh from getting stuck on their teeth.
19. Temporary hardness in water can be softened by
A cooling
B. adding salts
C. bleaching
D. boiling
hf if:
20. Pollen grains germinate after pollination. The CORRECT order of the parts involved are
A stigma —> style -> ovary —> ovule
B. ovule —> ovary —> style —> stigma
C. stigma style -> ovule —> ovary
D. style —> stigma -> ovary —> ovule
21. A metal bar was heated until it was red hot. Which one of the following properties remained the same even after heating?
A Volume
B. Mass
C. Length
D. Temperature
22. Which one of the following is NOT a sign of cholera?
A Vomiting and diarrhoea.
B. Feeling thirsty
C. Dehydration in the body.
D. Blood in the stool.
23. Three of the following are functions of water in the diet EXCEPT helps
A to prevent constipation.
B. in making blood.
C. in the process of digestion.
D. in cooling the body.
24. In a pic chart that represents the gases that make up air, which of the gases listed beiow make up the lowest percentage?
A Nitrogen and carbon dioxide.
B. Carbon dioxide and inert gases.
C. Oxygen and nitrogen.
D. Inert gases and nitrogen.
25. Nitrogen present in the air is taken by plants through the
A flowers
B. stems
C. roots
D. leaves
26. Which of the following foods is BEST for athletes?
A Proteins
B. Carbohydrates
C. Vitamins
I). Mineral salts
27. As Mwonza was walking along the road one-day, - saw a big poster as the one drawn below:
AIDS IS REAL IT HAS NO CURE
Mwonza must  have seen a
A billboard
i
B. newspaper
C. pamphlet
D. roadsign

28 . Which sexually transmitted infection (S.T.I) makes transmission of HIV/AIDs easier?
A Genital herpes
B. Chancroid
C. Syphillis
D. Gonorrhoea
29. The following is a description of a type of a cloud.
(i) Dome shaped with flat bottom.
(ii) Puffy and white in colour.
(Hi) Indicate heavy rainfall.
(iv) Seen on hot days high up in the sky.
(v) Dark grey in colour
(vi) Indicate fine weather
Which descriptions belong to cumulus clouds only?
A (i), (ii), (iv) and (vi)
B. (i), (ii), (iii) and (iv)
C. (ii), (iii) and(v)
D. (i), (ii), (iii) and (v)
30. The diagram below shows change in matter.
J
K
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L
Which two processes J, K, L and M involve absorption of heat from the atmosphere?
A J, K
B. L, M
C. K, L
D. K, M


31. The following are forms of energy. Which of the following is CORRECT during their transmission?
36. The experiment below was set up by class 4 pupils.

	Require
medium
	Do not require medium

	A. Sound
	heat

	B. Electricity
	sound

	C. Heat rs*|jj
	electricity

	D. Light
	heat



32. Which one of the following is an example of force?
A. Mass
B. Density
C. Work
D. Weight
33. : Three of the following are TRUE about
sound energy except one. Which one is it? Sound
A does not travel in a vacuum.
B. travels fastest through solids.
C. is produced when things vibrate.
D. travels in a straight line.
34. For any work to be done, energy is required. Which one of the following activities DOES NOT require heat energy?
A Pushing a table.
B. Melting ice
C. Boiling eggs
D. Keeping your body warm.
35. Which of the following adaptive features in plants helps those growing in wet areas to withstand water currents?
A Air sacs on leaves
B. Flexible stems
C. Large leaves
D. Feathery leaves
Which component of soil were they investigating?
A Mineral particles
B. Organic matter
C. Inorganic matter
D. Water

37. Std. 8 pupils at Unyeo primary school set up an experiment as shown below.
After sucking the air using the syringe they observed black patches forming on the cotton wool. What were they demonstrating?
A Effects of smoking
B. Emission of gases from vehicle exhaust.
C. Effects of aerosol sprays
D. Effects of water pollution.

38. The following are activities carried out to demonstrate water retention ability of different soils.
(i) Place the funnels on the mouth of the bottles.
(ii) Plug each funnel with cotton wool and label the funnels A, B, C
(Hi) Put each type of soil on a different funnel.
(iv) Use cello tape to attach scale to each bottle.
(v) Pour equal amounts of water on the soils.
Which one of the following is the CORRECT order of the activities?
A (i), (ii), (iii), (iv), (v)
B. (iv), (ii), (i), (iii), (v)
C. (ii), (i), (iii), (iv), (v)
D. (iii), (iv), (ii), (i), (v)
39. When an object is thrown up in the air, it falls back because it
A is heavier than the air.
B. is resisted by air.
C. exerts pressure.
D. is pulled by the earth.
40. Which one of the following is NOT a sea mammal?
A Dolphin
B. Seal
C. Shark
D. Whale

41. One of the following farm animals is INCORRECTLY matched with its farm product. Which one?
Animal
Product
A Poultry
meat
B. Sheep
mohair
C. Goat
mutton
D. Cow
beef
42. Which one of the following should be put as the third layer from the top when preparing and assembling materials in a compost heap?
A Dry leaves
B. Top soil
C. Ash
; D. Farm yard manure
43. Which one of the following is LEAST likely to pollute water?
A Using fertilizers
B. Smoking cigarettes
C. Dumping industrial wastes into water source
D. Sewage water from homes
44. Which one of the following statements is NOT an effect of ticks on livestock? They
A suck the blood of the animal.
B. cause discomfort to the animal.
C. are found on the body of the animals.
D. transmit diseases.
45. Which one of the following is NOT a source of current electricity?
A Batteries
B. Bicycle dynamos
C. Solar panels
D. Lightning
46. Which of the following pairs of animal parasites consists of parasites that are found in the intestines of the host?
A. Liverfluke and tapeworm
B. Tapeworm and hookworm
C. Roundworm and lungworm
D. Liverfluke and lungworm
47. A coin as observed at the bottom of a glass full of water appears raised to the surface. The apparent appearance of the coin to a raised position is as a result of light
A reflection
B. splitting
C. bending
D. diffraction
48. The following are natural ways of lighting a house. Which one is NOT? A Skylights
B. Windows
C. Doors
D. Electric lamps
49. Three df the following are uses of water in recreation. Which one is NOT? A Irrigation
B. Skiing
C. Boat racing
D. Surfing
50. Which one of the following animals is INCORRECTLY matched with the way the animal moves?
A Snail - glides
B. Caterpillar - crawls
C. Snake - slithers
D. Horse - runs
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13. Some pupils set up an experiment shown in the diagram below.




















